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General Marking Guidance  
 
 

• All candidates must receive the same treatment.  Examiners must mark the 

first candidate in exactly the same way as they mark the last. 

• Mark schemes should be applied positively. Candidates must be rewarded 

for what they have shown they can do rather than penalised for omissions.  

• Examiners should mark according to the mark scheme not according to 

their perception of where the grade boundaries may lie.  

• There is no ceiling on achievement. All marks on the mark scheme should 

be used appropriately.  

• All the marks on the mark scheme are designed to be awarded. Examiners 

should always award full marks if deserved, i.e. if the answer matches the 

mark scheme.  Examiners should also be prepared to award zero marks if 

the candidate’s response is not worthy of credit according to the mark 

scheme. 

• Where some judgement is required, mark schemes will provide the 

principles by which marks will be awarded and exemplification may be 

limited. 

• When examiners are in doubt regarding the application of the mark scheme 

to a candidate’s response, the team leader must be consulted. 

• Crossed out work should be marked UNLESS the candidate has replaced it 

with an alternative response. 
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). 
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 m
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 C
apacity usage ratio is good because m

ore hours have been m
ade available for production (1

). 
 Production volum

e ratio is poor because the volum
e of production is less than planned and it has 

taken longer than anticipated (1
). 

(3
)  

 Q
u

e
stio

n
 

n
u

m
b

er 
A
nsw

er (A
O

1) 1 (A
O

3) 1 
M

a
rk

  

3
(d

)(i) 
 A
 standard cost is a p

re
d

e
te

rm
in

e
d

 (ta
rg

e
t) co

st (1
) that should be able to be achieved 
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alance b/d   

  
  2 680    

           W
 I P control            86 450   (1

) 
R
aw

 m
aterials control 

19 540 
   

W
ages control 

          37 600        (1
) 

   
 

    
Financial ledger control  

 25 430    
 

B
alance c/d 

 
 

  1
 2

0
0

 (1
o

f)  
   

 
             ______    

 
 

 
             86 450 

 
 

                       86 450     
  

(3
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Q
u

e
stio

n
 

n
u

m
b

er 
A
nsw

er (A
O

2) 3 
M

a
rk

  
4

(a
)(iv) 

A
w

a
rd

 1
 m

a
rk

 fo
r a

ll co
rre

ct e
n

trie
s o

n
 th

e
 d

e
b

it sid
e
. 

A
w

a
rd

 1
 m

a
rk

 fo
r th

e
 co

rre
ct e

n
try o

n
 th

e
 cre

d
it sid

e
.  

A
w

a
rd

 1
 m

a
rk

 fo
r b

a
la

n
ce

 c/
d

 o
n

 cre
d

it sid
e
. 

  
W

 I P
 C

o
n

tro
l A

cco
u

n
t 

 
 

 
 

        $ 
 

 
 

 
 

           $ 
B
alance b/d  

 
      25 400 

 
Finished goods control           412 300     (1

) 
M

aterials control 
              241 180    

 
  

W
ages control 

 
      74 720         (1

) 
Production overheads control  86 450o

f    
           B

alance c/d                 1
5

 4
5

0
     (1

o
f) 

   
 

 
 

 
     427 750  

 
 

                         427 750     
 

 
 (3

) 
 Q

u
e
stio

n
 

n
u

m
b

er 
A
nsw

er (A
O

2) 2 
M

a
rk

  

4
(a

)(v) 
A

w
a
rd

 1
 m

a
rk

 fo
r b

o
th

 co
rre

ct en
tries o

n
 th

e
 d

e
b

it sid
e
. 

A
w

a
rd

 1
 m

a
rk

 fo
r b

o
th

 co
rre

ct en
tries o

n
 cre

d
it sid

e
. 

 Fin
ish

e
d

 G
o

o
d

s C
o
n

tro
l A

cco
u

n
t 

 
 

 
 

    $ 
 

 
 

 
 

   $ 
B
alance b/d  

         29 260    
          Production cost of sales 

           416 640     
W

IP control   
       412 300     (1

) 
B
alance c/d 

             
 

   2
4

 9
2

0
 

(1
)        

 
 

 
       441 560 

 
 

            
                     441 560     

 
(2

) 
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  Q
u

e
stio

n
 

n
u

m
b

er 
A
nsw

er (A
O

2) 4 
M

a
rk

  

4
(a

)(vi) 
A

w
a
rd

 1
 m

a
rk

 fo
r co

rre
ct en

try o
n

 th
e
 d

e
b

it sid
e
. 

A
w

a
rd

 1
 m

a
rk

 fo
r a

ll co
rre

ct e
n

trie
s o

n
 cre

d
it sid

e
.  

A
llo

w
 1

o
f m

a
rk

 fo
r b

a
la

n
ce

 o
n

 th
e
 d

e
b

it sid
e
 a

n
d

 1
o

f fo
r th

e
 b

a
la

n
ce

 o
n

 th
e
 cre

d
it sid

e
. 

 Fin
a
n

cia
l Le

d
g

e
r C

o
n

tro
l A

cco
u

n
t 

 
 

 
 

    $ 
 

 
 

 
 

   $ 
S
ales  

 
 

474 200 (1
)    

B
alance b/d  

               100 590       
         R

aw
 m

aterials control 
      267 800      

         W
ages control 

 
      112 320 (o

f) 
      (1

) 
 

 
 

 
 

 
         Production overheads control   25 430       

B
alance c/d (W

1)              8
9

 5
0

0
              Profit c/d (W

2) 
 

       5
7

 5
6

0
      

 
  

 
 

                    563 700 
 

 
                                   563 700       

  W
1 

B
alance =

 R
M

 $50 330 +
 W

 I P  $15 450 +
 FG

 $24 920 – Prod o/h 1 200 =
 8

9
 5

0
0

 (1
o

f) 
 W

2 
S
ales $474 200 less production cost of sales $ 416 640 =

 P
ro

fit $
5

7
 5

6
0

 (1
)    

 
 (4

) 
 

T
o

ta
l fo

r Q
u

estio
n

 4
 =

 1
6

 m
a
rk

s 
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n
u

m
b

er 
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nsw

er (A
O

1) 1 (A
O

2) 2 
M

a
rk

  

5
(a

)(i) 
A

w
a
rd

 1
 m

a
rk

 fo
r th

e
 fo

rm
u

la
 a

n
d

 1
 m

a
rk

 fo
r co

rre
ct fig

u
re

s e
n

te
re

d
 in

to
 th

e
 fo

rm
u

las. 
 Fin

ish
e
d

 g
o

o
d

s in
ven

to
ry tu

rn
o

ver 
 

 
 

                             B
rig

h
t  

 
                    S

ta
n

sted
 

 
A
verage Inventory  x 365             $65 x 365 =

 6
2

.4
3

 d
a
ys (1

)   $45 x 365 =
 6

6
.7

6
 d

a
ys (1

) 
C
ost of sales                 (1

)          $380                                      $410 
 

 
 (3

) 
 Q

u
e
stio

n
 

n
u

m
b

er 
A
nsw

er (A
O

1) 1 (A
O

2) 2 
M

a
rk

  

5
(a

)(ii) 
A

w
a
rd

 1
 m

a
rk

 fo
r th

e
 fo

rm
u

la
 a

n
d

 1
 m

a
rk

 fo
r co

rre
ct fig

u
re

s e
n

te
re

d
 in

to
 th

e
 fo

rm
u

las. 
 T

ra
d

e
 re

ce
iva

b
le

s co
lle

ctio
n

 p
e
rio

d
 

  Trade receivables  x 365 days    $55 x 365 =
 3

0
.8

8
 d

a
ys (1

)   $95 x 365 =
 4

5
.6

2
 d

a
ys (1

) 
       C

redit sales            (1
)             $650  

 
 

         $760 
  

(3
) 

         

ASE20098 
M

arch 2017 



Q
u

e
stio

n
 

n
u

m
b

er 
A
nsw

er (A
O

1) 1 (A
O

2) 2 
M

a
rk

  

5
(a

)(iii) 
A

w
a
rd

 1
 m

a
rk

 fo
r th

e
 fo

rm
u

la
 a

n
d

 1
 m

a
rk

 fo
r co

rre
ct fig

u
re

s e
n

te
re

d
 in

to
 th

e
 fo

rm
u

las 
 T

ra
d

e
 p

a
ya

b
le

s p
a
ym

e
n

t p
e
rio

d
 

 
 

 
  

  
Trade payables x 365 days          $45 x 365 =

 4
2

.1
2

 d
a
ys (1

)  $65 x 365 =
 5

5
.1

7
 d

a
ys (1

) 
   Purchases          (1

)                     $390                                    $430    
 A
ccept the follow

ing: 
 Trade payables x 365 days          $45 x 365 =

 4
3

.2
2

 d
a
ys (1

)  $65 x 365 =
 5

7
.8

6
 d

a
ys (1

) 
  C

ost of sales                                 $380                                    $410    
  

 (3
) 

 Q
u

e
stio

n
 

n
u

m
b

er 
A
nsw

er (A
O

2) 2 
M

a
rk

  

5
(a

)(iv) 
A

w
a
rd

 1
 m

a
rk

 fo
r e

a
ch

 co
rre

ct fig
u

re
. 

 C
u

rren
t ra

tio
 

 
 

 
C
urrent assets : C

urrent liabilities $150 : $45  =
 3

.3
3

 : 1
 (1

)     $180 : $105 =
 1

.7
1

 : 1
 (1

) 
 

(2
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er 
A
nsw

er (A
O
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a
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5
(a

)(v) 
A

w
a
rd

 1
 m

a
rk

 fo
r e

a
ch

 co
rre

ct fig
u

re
. 

 A
cid

 te
st (q

u
ick

) ratio
 (C

urrent assets – inventory) : C
urrent liabilities  

 $80 : $45 =
 1

.7
7

 : 1
 (1

)        $95 : $105 =
 0

.9
0

 : 1
 (1

) 
 

 (2
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Q
u

e
stio

n
 

n
u

m
b

er 
A
nsw

er (A
O

3) 4 (A
O

4) 3 (A
O

5) 1 
M

a
rk

  

5
(b

) 
C

o
m

m
en

ts o
n

 th
e
 liq

u
id

ity o
f e

a
ch

 co
m

p
a
n

y. 
 B
oth com

panies are carrying too m
uch inventory and need to take action to reduce their 

inventory levels (1
). They should investigate their inventory and put a stop on non-essential 

purchases and look at the physical inventory to determ
ine w

hich item
s need to be disposed of 

quickly (1
).  

 S
tansted has a w

orse trade receivable collection than B
right. They should em

ploy credit control 
techniques to chase up paym

ents (1
). 

 B
oth com

pany's are taking too long to pay their trade payables. S
tansted m

ight be in danger of 
losing suppliers (and/or trade discounts) (1

). 
 A
lthough both com

pany's current ratios seem
 to suggest the com

panies have a healthy liquidity, 
the actual figure show

 differently (1
). B

oth com
panies have too m

uch w
orking capital tied up in 

inventory and trade receivables and need to take action to reduce these am
ounts (1

*
). 

 A
lthough both acid tests seem

 to im
ply they are in a healthy position, S

tansted has serious 
liquidity problem

s - they have no im
m

ediate cash to pay trade payables (1
). S

tansted have a 
bank overdraft and no m

eans to m
ake repaym

ents (1
). m

a
x
 6

 
 E
va

lu
a
tio

n
 

 In term
s of liquidity, B

right is the only viable option (1
), but w

ould still need to m
ake 

im
provem

ents to its cash flow
 position in the im

m
ediate future (1

). 
 

(8
) 

 
T
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l fo
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n
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 =
 2

1
 m

a
rk
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T

O
T

A
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R
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P

E
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 =
 1

0
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